MS-252RT25 R T E—9 -0 =

KOSHIN

B{® MS-252RT25-AAA-0 (045871503)

*EREHE 1V RCERLTOVAEHTT. AVRTRHY EHA
* FRonflig S m—EH Y OBk E N Mg TT

No. | #B@I—F B & A EE o # B LI i i z

1 0458465 MS-252 Ry 712953 1 1,750 N

2 0452607 MS-252 7y 7 Ak 1 3,850

3 0452612 MS-252 £°akvayh 1| SUS 1,750 N

4 0451300 KV-ER 7"y¥4— 1| FCD 5,400

5 0452647 MS-252 7yve—hqK 1 400 N

6 0451276 MS-400 £ ARy K=k 1 100 N

7 0451277 MS-400 £ ARVH4M 1 100 N

8 0451301 MS-400 WK 5+ 1| 8SUS 250 N

9 0452650 MS-252 WK Fh7— 1| 8SUS 300 N
10 0452649 MS-252 K H Ay~ 1| SUS 150 N
1 0452648 MS-252 #4I¥—Ik A 1 | FKM 1,000 N
12 0451331 MS-400 £ akvY—1v B 1| FKM 2,650 N
13 0451374 oYy 1| ¢ 26 X¢ 2FKM 150 N
14 0451484 MS-400 #4¥—1v C 1 | NBR 450 N
15 0452686 RATYFER W 1| M5 x50 SUS 100 N
16 0452692 NAES 1| ¢5 8US 100 N
17 0452691 FRES 2| ¢5 SUS 100 N
18 0452689 3 RELARTFRAEFA LY 3 | M5 x 16 SUS 100 N
19 0451507 oYy 1| PSFR 100 N
20 0452711 MS-252 7'yyx—h4F{4y7" 1| PVC 250 N
21 0452608 MS-252 £ Ak -2 1 1,450
22 0452669 MS-252 YYy5'N4 7 1| 8SUS 3,600
23 | 889857022 | P22 0Yy¥° 1 | P22FKM 100 N
24 0452828 o0Ysy 1| P21 FKM(889857021 [l ) 100 N
25| 889857906 | OYy¥° 1| P25.5 FKM 100 N
26 0452611 MS-252 N7 KN - 1 550 N
27 0452652 MS-252 AN T HEZ 1| SUS 550 N
28 0452653 MS-252 R ANNT 1| SUS 200 N
29 0452654 MS-252 N7 A7 1| 8US 100 N
30 0452609 MS-252 N AN AAK 1 800

OEMTALEBRORERITo>TEY A,

OBfEFERKEETHEBHYET.

OXRTHRICHERIEENTEY £t A,

OZXHERRHEBIPYET,




MS-252RT25 R T E—9 -0 =

KOSHIN

B{%E MS-252RT25-AAA-0 (045871503)

*EREHE 1V RCERLTOVAEHTT. AVRTRHY EHA
* FRonflig S m—EH Y OBk E N Mg TT

No. | #B@I—F B & A EE o # B LI i i z
31 0452614 MS-252 ERIEER7") ) I+ 1| 8US 300 N
32 0452655 MS-252 FEHEREEH 1| 8US 350 N
33 0452712 MS-252 RKF+EE 1| SUS 650 N
34 0452673 MS-252 EHEREERT)VY 1| 8US 100 N
35 0452610 MS-252 FRE/7 1 300
36 0452687 REBRYFEF W 1 | M5 x 40 SUS 100 N
37 0452830 oYy 1 | S6NBR 100 N
38 0452831 ovyy 1 | S14NBR 100 N
39 | 827305005 | A<ATFY+ 8 | M58US 100 N
40 | 889857901 | P10A O Yy 1 | P10AFKM 100 N
4 0452710 3 RELARTFRAEFA LY 4 | M5 x 25 SUS 100 N
42 0452688 3 RELARARANRGER IS 4 | M6 x 55 SUS 200 N
100 0458464 MS-252 £-4-%3 1 16,500
0452929 MS-252 2qyFhn'- 1 200 | E-5-93%BER N
0452928 MS-252 21yF 1 550 | E-5-93%R G N
0452930 MS-252 7°L-5- (8A) 1 550 | T-9-93RERM N
0452931 MS-252 n4oyh507° 1 200 | E-5-93%BER N
0452932 MS-252 EiR3-+ 1 750 | E-5-73%R G
101 0458466 MS-252 %73 1 10,600 | 42 &<
0452699 MS-252 KOSHIN 74" 1 350 N
0452764 MS-252RT25-AAA-0 §44R 1 250 N
0452702 MS-252 SW- 7'L—A-5~"l 1 100 N
0452703 MS-252 BEIA'W 1 100 N
0452704 MS-252 &R 1 100 N
0452634 MS-252 ERE/7 LERHTA W 1 250 N
0452767 MS-252RT25 Hygit 1 650 N

OEMTALEBRORERITo>TEY A,

OBfEFERKEETHEBHYET.

OXRTHRICHERIEENTEY £t A,

OZXHERRHEBIPYET,




MS-252RT25 & V0% v |) — KOSHIN

*ERAERE1BICERALTVAERTT. AYBTRHYEEA

BIX% MS-252RT25-AAA-0 (045871503) # o+ + U — * FRAER A HE—EH Y OBEE NESEETE
No. | #ma—F B & B %% wRow - M HE B O\ fi& =
43 0458420 MS-251C mEHi£—2%3 20m 1| PVC ® 6 x 20m 5,800 | DP-141(4971770-102569)
44 0450949 MS-250 44/3z97° biNy%y A 1| PVC 100 N
45 0450950 MS-250 44/3zy7 W'y%y B 1| PVC 100 N
46 0452500 MS-ER25T Ev¥ ' HN 4~ 1| ADC 1,250
47 | 857639040 | HI-77yYv— 1 150 N
48 0451366 MS-400R nYF I 1 300
49 0451455 MS-400R #5-N'47 1| yahivx 300 N
50 0451350 MS-400R #—&Y- )L El#R700F 1| ADC 3,700
51 0451351 MS-400R #—Al-ILEI1RY)7 1| ADC 4,000
52 0451474 MS-400R Y-n*47" (%) 2 | AL 400
53 0451061 MS-250 IVEL 1] 8590° HAYISO 2,850 N
54 0451505 MS-400R I/FN 47 1| 1z4h0ty% 2,500 N
55 | 707805049 | NREEEHRA+TFIUFFAINRY 12 | M5 x 20SUS 100 N
56 | 735705101 NATNNEBPEE 3 | M6 x 18SUS 100 N
57 | 703905134 | +=FR{FI52/040Y° 1 | M8 x 45SUS 150 N
58 | 846205008 | FEE& 1| ¢ 8SUS 100 N
59 | 827405008 | AFATv+ 1 | M8 SUS 100 N
60 0457006 MS-252RT25 Bk Af—2%3 1| 0.7M FEIE&EM 1,100
61 0451094 MS-250 B A%—AN"y%Y 1 100 N
62 0451803 MS-251 AR—F=ils ( fyvafd) 1 1,600
63 0451859 MS-251 ¥ aEny+ 1| SUS 300 N
64 0458316 MS-251RT25 sKk-2 1] 25M % 1/3 150
65 0458210 MS-400R Y-V iEHik—293 1] ¢85 % 0.35m 3,850
66 0458357 MS-251 ¥a-M A9z 1 | G1/4 54CM & IR/ #eeft 7,000 | DP-152(4971770-106154)
67 0452041 MS-251 iE#R¥+y7" (0452140 38 ) 1 | C3601 0458315,8357 A 550 N
68 0452059 MS-251 iE#R (0452138 %38 ) 1] SUS @ 1.2 300 N
69 0452042 MS-251 IE#RA"y4> (0452142 #3& ) 1 | NBR 0458315,8357 A 100 N
70 0452222 MS-251 8YSy7" (/A WVERET+Y) 1| 2 550
Al 0451971 MS-251RT25 25L 4% 1 15,400
72 0451521 TK-50N ML ¥+97'ny%y 1 200 N

OBMRALEDROMET>TEV A, DBEMRFPEREETSLNHVEYT. ORTMECHERIZSENTEYEEA. DEHERZHESDPPVET,



MS-252RT25 ¥ 9% v U —

KOSHIN

BX4% MS-252RT25-AAA-0 (045871503) # U F+ 1) —

*ERAERE1BICERALTVAERTT. AYBTRHYEEA
* FRonflig S m—EH Y OBk E N Mg TT

No. | #maI—F B R B fE1£% RO’ M B B M fi& =z
73 0451666 TK-50N FLo%4y7 1] 9L— - N
73 0451666 TK-50N FLo%vy7" 1] AL 100 N
73 0452952 ES-10 ML %497 118 100 N
74 0458322 MS-4 42 9%%y793 1 1,750
75 0450134 MS-4 429%%y7’ 1| PP - | rTts
76 0450784 RM-10 7°)—%"-2% %" 1 100 N
77 0400480 HS AR —+- 1 | PP (040025402 &) 100 N
78 0450140 KK-18X 429%%y7 1V y%y 1 | NBR 400 N
79 0451990 MS-251RT25 493 An"y%y 1 400
80 0451628 TK-50N AR —F=4Yy7° 1 650
81 0450933 KK-18X AR —F- 1| PE 1,200
82 0458304 MS-251RT25 7L—4%3 A 1 7,900
83 0458305 MS-251RT25 7L-4%3 B 1 8,300
84 0458313 MS-251RT25 nyR VY3 1 4,200
85 0451989 MS-251RT25 7L-AC 2 1,000
86 0458178 4% 2| ¢ 210 2,750
87 0452842 @ 20 Fyvx 2| ¢20x37T=3 100 N
88 | 847302087 | ' 2| 4x35 100 N
89 0630205 TLRD 2 250
90 0452391 MS-251RT25 EH#En'( 7't 2 100 N
91 0451919 MS-251RT25 nuMIh¥+y7" PZ-8 2 150 N
92 | 743120058 | MANFENREESARARAN VL 4 | M8 x 65SWRM 150 N
93 0451991 MS-251RT25 N4 7 %%y 7 2 100 N
94 | 734620043 | NAEESARANRAITH G 8 | M6 x 10SWRM 100 N
95 0451973 MS-251RT25 /7' Wb 2 300
96 | 743119045 | MANBENREESHRANRAER VL 2 | M8 x 20SWRM 100 N
97 | 827419008 | AfTvh 6 | M8 SWRM 100 N
98 0452136 MS-E2R25T #'-Nay% G(PF)1/4 1 | 045078501 [l 1,250 N
99 0453359 MS-25RT25 £—A27»% 1| SUS 500 N

100 0452053 =AH1FIN RS Ty - 1| NBR 100 N

OEMTALEBRORERITo>TEY A,

ORI FER<ERT B EBHYUET,

OXRTHRICHERIEENTEY £t A,

OZXHERRHEBIPYET,




MS-252RT25 & V9% v |) — KOSHIN

*ERAERE1BICERALTVAERTT. AYBTRHYEEA
* FRonflig S m—EH Y OBk E N Mg TT
No. | #B@I—F B & A {[EE= o - M HE LI i i z

BHX4% MS-252RT25-AAA-0 (045871503) # U F+ 1) —

101 0458474 MS-251 /2" MAYERL Y32 1 1,100
102 0452039 (7 2 | ¢ 1.85X ¢ 0.63 100 N
103 0457117 ya-MA VAR F—RE 1 1,100
104 0457023 MS-251RT25 #—-AY-I93 B 1 17,600

OBMRALEDROMET>TEV A, DBEMRFPEREETSLNHVEYT. ORTMECHERIZSENTEYEEA. DEHERZHESDPPVET,



